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1

(1) 48 (2) 1020

(3) 456 (4) 3854
(5) 21.6 (6) 30

(7) 3.68 (8) 0.025

(9) 0.129% (10) 0.648

2

(1) 3 (2) 340
(3) 80 (4) 15
(5) 0.75 (6) 0.75
(7) 0.4 (8) 0.6
9) 1.2 (10) 1.6
(11) 8.59 (12) 0.57
3

(1) 6 (2) 0.6
(3) 85 (4) 40
(5) 5 (6) 0.8
(7) 120 (8) 8
(9) 0.2 (10) 0.2

HE - FRODVDEHE [#EE]

1
(1) 1700m =+ 5s=340m 340m
(2) 1360m + 340m/s =4 4 F%

(3) 850m + 340m/s=25% 25F
(4) 340m/s x 3F =1020m 1020m

2

(1)

O x=14

@ x=0.15

(2)

® 7 100 4 1 v 250 = x

x=2.5

AfE 100 : 250=1 : x,
250 : 100=x : 1,
1:100=x:250 Tb L\,

@ 7 15 4 12 v x = 50

Xx=62.5

AIfE 15 :x=12 : 50,
x:15=50: 12,
12:15=50:x T X\,

(1) lem
(2) 5.4cm
(3) 0.75cm
(4) 2.5cm
(5) 105g
(6) 270g
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(6)

60000g K {7 D IR > T B FIUT T B T EI |
1200g 1000g=1kg
4.2kg
0.07kg 100cm=1m 1000m=1km
200cm
50cm 1m2=10000cm?
1.6m 0.1m2=1000cm?
0.35m 0.01m?=100cm?
5000m 0.001m?=10cm?
250m 0.0001m?= lcm?
0.0016km
0.00035km
20000cm?
0.005m?
5 (ecm) X15 (ecm) =75 (cm?) 75 (cm?)
20 (cm) x40 (cm) =800 (cm?) 800 (cm?)

100 (N) +4 (m?2) =25Pa % L <1x25 (N/m?) 25Pa (25N/m?)
25 (N) <05 (m?) =5Pa 3 L<ix5 (N/m?) 5Pa (5N/m?2)

2000g = 20N

20 (N) +2.5 (m?) =8Pa % L <Ix8 (N/m?) 8Pa (8N/m?)
1500g = 15N

15 (NJ 0.3 (m?) =50Pa % L <50 (N/m?) 50Pa (50N/m?)
9000g=90N 45cm?=0.0045m?

90 (NJ +0.0045 (m?) =20000Pa % L < % 20000 (N/m?) 20000Pa (20000N/m?)

A 5 (em) X12 (ecm) =60 (cm?2) 3kg=3000g=30N
30 (N) =0.0060 (m%2) =5000Pa % L < ix5000 (N/m2) 5000Pa (5000N/m?)

B 20 (cm) X12 (cm) =240 (cm?) 3kg=3000g=30N
30 (N) +0.0240 (m%2) =1250Pa % L < 1% 1250 (N/m?2) 1250Pa (1250N/m?)

C 5 [(em) X20 (cm) =100 (cm?) 3kg=3000g=30N
30 (N) =0.0100 (m%2) =3000Pa % L < ix3000 (N/m2) 3000Pa (3000N/m?)
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1(1) 3£10cm X 10cm X 10cm =1000cm?
(2) Hdem X 6cm X 12¢cm=288cm3

2(1) & 28 —2¢/cm3

8cm3

2) & 2%=0.9g/cm?

5cm3
3) K 1352f3=2.3g/cm3
4) K 4:'::’13:10.5g/cm3
S 3_ X8
(5) X 7.9g/cm s
Xg=158¢g
3—_X8
(6) X 1.4g/cm —
Xg=21g
(7) & 4.5g/cm3=-_8
g 3
Xcm
Xg=18cm?®
(8) X 0.78g/cm3=—%
Xcm
Xg=19.2cm?®
3(1) & 22 x100=10%
100g
2 = Zj;*g x 100=17%
N _ xg
3) R 15%—100g x 100
Xg=15¢g

(4) X 5%= X—ggxwo

25
Xg=1.25¢

4y = 3% % 100=20%

150g

\ 18g _
(2) =K 2005 % 100=5%

3) ® —2  x100=X%
100g+50g

X=33.3%

4) =R %8 % 100=X%

150g+50g
X=25%
Xg _
5) =R mgmoo-zo%
Xg=060g
. Xg _
6) =X Fogx100—18%

Xg=27g
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(1)

4cm
10g
2.8cm
40g

® © O 6

(2)

@ 1.5g/cm?

(1) #5110g
(2) #932g
(3) #78g
(4) #27°C
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